S BB % e (HE) H4imm
1 T+ F12 1.2
2 BA F12 1.2
3 53 F12 1.0
Lo R F12 1.0
5 BE Y10 1.0
6 Hr& Y10 1.0
7 ERETE Y10 0.7
8 S8 FE Y10 0.7
9 R PR F12,Y10 0.7+1.0
55 710 10 710 0 710 110 710 110 710 55 A 0 | BB% F12 1.0
11 BIRINZ IV Y10 0.5
2 s 12 | BSx)L F12 0.6
?g e F12 0.8
o2~ |l 28 28 28 28 e 1h | #HR F12 0.6
N76n Ml 761 il 761 il 761 Ml 761 - 5 | PYn=Tb=h F12 23
;::::::::§ ;::::::::§ ;::::::::f; ;::::::::§ ;::::::::§ % ™M F12—>5§r§1‘.ﬁ§9&)o %%#E(JIS €] 3302]
i il fif il it | w8 Y10~ AR @S 5% 7S — 0 A 2do RIS G 3317)
I I T T N e
\ \ \ \ %@EﬂD%BE[]
v 685 )| 685 || 685 || 685 | [\ 685 | oA
_ _ _ _ _
4100
TEX
1670
4200 60 HOMNTIA 1530 80
50 FEANSTSE 4100 50 A
’ i 1000
O
f i‘ i 1] —
(e)
O
=
b o
e [ [ ] ] ] =R S
0 ~ = o~
O
oE
B
s
VG.L :
(e)
(Vg
1IEE X {8l E X

34 NXD—12L—5

OFZIBEO~T% - 685 % 1760(mm)
OFEHE : 6.27m(1.901F)




